TEAFRE  $£25% 1989

SPRING GPA ( 0/150 BAR)
120E 150E 180 150KW 120KW S0W

120E 150E 180 150W 120W 90W
CONTOBUR INTERVAL = 0.1(10 Mxx%2/Sx%x2)

1.4.11 FEZRIZBII5 GPA OKESA (W)

SPRING GPA ( 2/150 BAR)
120E 1S0E 180 150K 120K 90N

60N

120E 150E 180 1S0W- 120W 90NW
CONTOUR INTERVAL = 0.1(10 Mxx2/S%xx2)

1.4.12 - EFIIBIF B GPA DAF5Hi (20m)
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TEMAFBMBRE 5255 1989

SPRING GPA ( 5/150 BAR)
120E 150 180 150KW 120U S0OKW

60N

30N

EQ

30S

505+

120E 150E 180 1S0W 120K 90NW
CONTOUR INTERVAL = 0.1(10 Mxx2/Sx%x%2)

1.4.13 HEZIZBIT5 GPA DAESH (50m)

SPRING GPA ( 7/150 BAR)
120E 150E 180 150W 120W 90NW

50N

30N

4305

1605

1206 1SOE | 180 1S0W 120w 90W
CONTOUR INTERVAL = 0.1 (10 Mxx2/Sxx2)

1.4.14 FFIZIBITS GPA ODXESA (75m)
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SEFAFEMB/E  $255 1989

SPRING GPA ( 10/150 BAR)
120E 150E 180 150W 1200 90W

60N

30N

EQ

305+

6054

120E 150E 180 150W 120MW S0W
CONTOUR INTERVAL = 0.1(10 M%%2/S%x%2)

1.4.15 FEZHIZBIT S GPA DAFES A (100m)

SPRING GPA ( 15/150 BAR)
120E 150E 180 150W 120W 90W

120E 1S0E 180 1500 120K 90W
CONTOUR INTERVAL = 0.1(10 Mx=2/5x%%2)

1.4.16 HZIIBIF S GPA DAFESH (150m)
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[EMEIBMRE  $25% 1989

SPRING GPA ( 20/150 BAR)
_120E  150E 180 150K 120K 90K

150 180 150K 120W 90K
CONTOUR INTERVAL = 0.1(10 Mxx2/Sxx2)

1.4.17 HEZIZBT 5 GPA OKFESA (200m)
SPRING GPA ( 307150 BAR)

. 120E 150E 180 150W 120K gOHW

60N %

30N

EQ

3054

505+

T120E  150E 180 150K 120W . 90W
CONTOUR INTERVAL = 0.1(10 Mx=2/Sxx2)

1.4.18 HZFIIBITH GPA DAFESA (300m)
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KABEBIEFBARRE $25% 1989

SPRING GPA ( 40/150 BAR)
120E 150E 180 150W 120K 90N

120K 150E 180 . 150K 120KW S0W
CONTBUR INTERVAL = 0.1(10 Mxx2/S5%x2)

1.4.19 FEZIIBIT S GPA OKFESA (400m)

SPRING GPA ( 507150 BAR)
120E 150E 180 150N 120K SOW

" 120€ 150E 180 150W 120K SOW
CONTOUR INTERVAL = 0.1(10 Mx=2/Sxx%2)

H 1.4.20 HEZFIZBIT D GPA DXESA (500m)
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